/AFM -- Unit 1 Functions Test Review
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9. Given the following, describe the transformations to their parent graph.

o y=[2x] b. y ='f;(—-‘t)z +1 c. Zé3(x—-l)3 -4 X
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10. Dan works at a clothing store for men. He earns $8.00 an hour plus 50¢ for every item over 25 items that he sells.
He works 40 hours a week. Write a function that represents how much money he will make as a function of the number

of items he sells. X -H H?/VV\-{) 5’010{
320+ .S0(x-35) X325

State the domain (using interval notation) for the following:

1, () = 22 12. f(x) = V3% =5 13. f(x) = 3% 1. f() =52
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18. How does thecngaph ofy = =3f (2 ) compare to f(x)? 19. Name the x intercepts fory = x—?fﬁ _()(_—_2)_(;)3&)
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20. What is the equation of the slant asymptote for #19? 21. What s the y intercept fory =n ?
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22. Find the equation of the slant asymptote of y = Bx—x%.

~5 =4, 4l
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23. Determine ALL asymptotes for the graph of y =

x2-9
P 7 B =
YiE \ﬂ =0 x2—x-2 [,L (
24, Determine any holes for the graph of y = ————

(-, -1) T XONDGK))
(55 %)

25. Determine the equation of a rational function with vertical asymptotes x=-4 and x=2, horizontal asymptote
aty =0 and an x-intercept of (-1,0).

(e+d)(x-2)

26. Determine the equation of a rational function with holes at {-4,-1) and (6,9), x-intercept at (-3,0) and no

horizontal asymptote. \ﬁ’_— )(+L” (}( (_p ()d’gl
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j 27. What is the horizontal asymptote of
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Graph the following piecewise functions. State the domain and range for each.
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30.Given f(x) = [2x] — 1 and g(x) = 3|x — 4, find the following. (L ) ﬂ ’Uf IOQ)
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